bW, %aZ e |

R puens A

md/ﬁiuj. /Q.aAZ 49..6 \NZQ?AV
P ety b

Owﬁ;ag nocn 2

3

%éa%ﬁéﬁﬂﬂw
SIEPIP () 0% VO MY §
\Joa(ww-@wg,dm? 2\ e
e svoypel), ©o,. DRas -,B«O o8
= q do | S?C.nucSo | \mzv\ﬂ.._ ..x%‘.fwu esoﬁ.cﬂfua
A >QO QG\NJOAH' 00 dﬁﬂoofgnb o‘.
il R eSS
l.\s}n:o w&ﬁgrmu u? 139 o u@ m_o/( Y, .
RIS mﬂSﬁG& B.\ ¥ MO aTPI0G 18
- ;DCCQBSV, T ARC ﬁégl.%fzgg ,
rosand, o Vel oo asact ons oy vy o
Hey) O W e % ,Bé MTOUS " 51 )%J,.
A e sdnd by 0 o8
(P Y o WIS o

T WUy 20f 758 P(MIUD MeUSUL T oW T WOU ensimespts

e %gsﬁ.dmg,amlwﬁﬂ%%. il .w:mm

4 SECSES——

0 |3 T UM
-

o\

_ loNHLKYIA LoN 51 C_és, N
BE%@E@@-_ e 19Yg -QT g4
" bso- —

—_—

R SR T
hY b-d ¢ %o. \ﬂ .rmm.— : m_.——u 5;1


precis is supposed to be 1/3rd of the main passage not half of it!!!!!!!!

read the basic rules again and resubmit this will not be checked !!!




